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Choose the correct answer. Each question carries 2 marks.

1. Which one is an artificial sweetener?

(A) Sucrose

(B) Lactose

(C) Sucralose

(D) Cellulose

(3) (FID 10 Ffaw

(A) Sucrose

(B) Lactose

(C) Sucralose

(D) Cellulose

(2) Zeigler-Natta catalyst is a mixture of

(A) Al(CHs); and TiCly

(B) Al(C2Hs)s and TiCls
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(C) AI(CH3)3 and AICI3

(D) None of these

(R) Zeigler-Natta WNHOP A7 =Y
(A) Al(CH3s)3 and TiCly

(B) AI(C2Hs)3 and TiCls

(C) AI(CH3)3 and AICI3

(D) AR (PC A

(3) Natural rubber is a polymer of

(A) Acrylic acid

(B) isoprene

(C) 1,3-butadiene

(D) Ethylene

(19) AFOF AAF = JF06 VeI
(A) Acrylic acid

(B) isoprene

(C) 1,3-butadiene

(D) Ethylene

(4) Among the following which is operating software?
(A) XP

(B) MS DOS

(C) UNIX

(D) LOGO



(8)NTHT LT (PO WATAGS TFESTN?
(A) XP
(B) MS DOS
(C) UNIX
(D) LOGO
(5) Phenobarbital can be used as
(A) Antiseptic
(B) Central nervous system agent
(C) Antiviral agent

(D) None of the above

(&) CPINRIRIROE 49 T2 62
(A) Antiseptic
(B) Central nervous system agent
(C) Antiviral agent
(D) TR (C A

(6) Rancidification of oil is caused by

(A) Hydrolysis leads by microorganisms
(B) Oxidation leads by microorganisms
(C) Both hydrolysis and oxidation lead by microorganisms in the presence of air

(D) None of these

(\Y) (O] Rancidification g7 P B2

(A) TGN (FOY 2GR0
(B) SHTTHN WIGITIT (oY



(C) RGN I8 WHTOHN BoN2 T BARGTS WTGITIF (Norg
(D) M (/S A1

(7) Which of the following is a component of soap?
(A) Sodium stearate
(B) Sodium salicylate
(C) Sodium butyrate
(D) Sodium benzenesulphonate
() fNT63 (G SR SN2
(A) Sodium stearate
(B) Sodium salicylate
(C) Sodium butyrate
(D) Sodium benzenesulphonate

(8) Liquefied Petroleum Gas (LPG) is mainly a mixture of

(A) Ethane and pentane
(B) Methane and Ethane
(C) Propane and Butane
(D) Ethane and Propane
(t) TP RPIRG (ATGIETITN ST (JeAffGy) YeTo A7 Frey
(A) Ethane <R pentane
(B) Methane 4<% Ethane
(C) Propane 4<% Butane
(D) Ethane 4<% Propane
(9) Binary number 13 is

(A) (1110)2

(B) (1101).

(C) (10110),



(D) None of these
(9)TRNIE HLYT 13 =T
(A) (1110)
(B) (1101),
(C) (10110),

(D) AR (S 1

(10) Butylated hydroxyanisole, BHA is used in foods as
(A) Preservatives
(B) Anti-oxidant
(C) Sweetener
(D) None of these
(50)¥T4TCd Butylated hydroxyanisole, BHA 49 JJJXI] <52
(A) Preservatives
(B) Anti-oxidant
(C) Sweetener

(D) AR (PE



Paper Code: V-B
(Marks : 50)

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

Group — A
Answer any three questions from the following: 10x3=30
1. (a) Write down the preparation and uses of Paracetamol and Aspirin. 2+2
(b) What is artificial sweetener? Give one example. 2
(c) What is MSG? Why is it used in food? 2
(d) Give one example of each antimalarial and antipyretic drug. 1+1
2. (a) What is vulcanization of rubber? What is its utilization? 2

(b) Write the names of monomer units of each of the following polymers Nylon-66

and PVC 1+1
(c) What do you mean by “Semi Water Gas™? 2

(d) Write down the differences between “Saponification value” and “lodine number”. 3

(e) What do you mean by NPK fertilizer? 1
3. (a) How can you prepare Buna —S rubber? 2
(b) What is Zeigler catalyst and why is it used? 2
(c) What are the differences between oil and fats? 2
(d) Define Thermoplastic and thermosetting plastic. 2

(e) What is “Octane Number” of a fuel? 2



4. (a) What are DDT and BHC? 2

(b) Give the structure and name of the alarming gases of LPG? 2
(c) What do you mean by “Rancidification”? 2

(d) Write a short note on “Margarine”. 2

(e) Ilustrate anti-knocking agent. 2
5. (a) Define “acid value” of oil or fats? What is its significance? 2+1
(b) What do you mean by biofertilizer? Give one example. 2
(c) What is latex? Mention its main constituents. 2
(d) How polyurethane is prepared? 3

Group - B

Answer any one question from the following:
10x1=10

1. (a) From an experiment following data are available: 0.2049, 0.2039, 0.2041,
0.2043. Find mean, median, mode and standard deviation. (1+1+1+1)

(b) What do you mean by metal ion indicator? Give example. (1+1)

(c) What are different components of computers? (2)

(d) What are the differences between end point and equivalence point? (2)
2 (a) Write down the Nernst distribution law with its mathematical form. (3)
(b) Calculate the degree of freedom for the thermal decomposition of CaCOs3.(2)
(c) What are requisites for a substance to be a primary standard? (2)
(d) What are the limitations of Henry’s law? (2)

(e) Write down the full form of RAM. (1)
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faaffe @ A@E f$afe aem T we:

(@) TTRMGRT AR WHHAEET 5o 9 FIF @A
(b) F1as FRFES 52 936 SuRad w3 |

(c) MSG 32 @a aft A aE RS 2
(d) SFEAEEAT 432 MBTREDS ST 930 @ STRAT w3 |
(a) TATET SFFARENE I© F (@7 37 T@oEer F7?
(b) VR ATNEGCT AN 9T 1 (74
ARTF-66 a7 BT
(c) "CI SATBIF ST FeC© ST (FRN?
(d) "TAR ST T a2 "ATINGH 27" 97 F& NFS fTF~a FH1
(e) NPK SF II(@ I (IR
(a) FISIF FA-a5 (Buna-S) TAH 5F© FA?
(b) Zeigler SIELF fF 932 (@ afb FRREA Fa1 2A?
(c) (B9 T2 BIXT AT "MAFT
(d) NCAAFEF 9 ATHCI: AR T\ 713 |
(e) TETIAT "SHH SRAT" FI?
(a) DDT 438 BHC f3?
(b) TOIFAET T§ LPG-(C Tif%e SIS STHa 3 1 wia?
(c) "AAMFERE@ETT" (“Rancidification”) I® I (FRH?
(d) BT ofam: ssfifae
(e) IMT-aAfF: 9@ F2

fTeTsT-ar

10x3=30

2+2

1+1

1+1



faafefie (3@ @ @ET a7 9wF Ted wis: 10x1=10

1.(a) 936 7S (@ [F@FEe ©WIF  ASA TR 0.2049,
0.2039, 0.2041, 0.2043. STG, YH, (WG 9T N (e @FF FEI.

(1+1+41+1)

(b) HTeF AT @+ Iq@ F (FRI? SURAT W3l (1+1)

(c) HPOorEd fafed Tamwe Ft 172 (2)

(d) e R 8 @ [Rvg sy &y 52 (2)
2.(a) AEACET T69 @ 8 FFHIENG A (3)
(b)CaCO; 97 SITEPE & FHdeId Nar Sy FEl. (2)
(c) 996 TNT AT TNF GIT( TARAMT TISTE) 28TF 16 SN F
f7? (2)

(d) AfFE @R SheRmersf Ft Fi? (2)

(e) RAM a7 5 e, (1)





